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Chapter 13. Parallelizing Neural NetworkTraining with Theano (Theahdk s ==—7/L %y hJ—ZDFIfHD
W 5I{E)

® Theand IV Cheii{b Lot 78 7 — R & AFRk

® A\T=a—FLF NI —ID=bDOTEMEALEE$ 23R

® fHHII) OFERWERDIDIZ, Keras BB FHE 7477V & A

13.1 Thean& W - ROREEE, o /AL FEAT
® Thean®ikal H#t: Pythork W TH 5 £ 7 VAR N —= 7795
® Bengio Y. 2008 LISA(Laboratoire d’'Informatique des Systemeaptatifsyff 7t =
® BMDEWVFREDOETICHITHME
PythonD FEAT1E T 7 4/L N C1 oD 7 IZH|R: GIL(Global Interpreter Lock)
I D=7 OEHIZIL multiprocessingZ A 7 ZUEFI — 135> Th., mifkle~T o TH801627 Ll |k
DHDIT 720
E B VS FE O @O R ALER T IE T AZ D BRI HE N
=S GPUDFIAEMNEE  GPULI~I L OHO/NSARIE M 7T AK L el 22
7272 LGPUE G L LT — R &2 EFHS DIEE B TIE7Z20 v : CUDAROepnCL2 L A3 Hoh DD+
% ZCTheano 3% (272>

13.1.1 TheanbiLfi>

® LRI (T Y M)ITRIL, BADFLE A AV Tl Z R BLATOZEZ BRIELIZ 7L — L0 —
27 ---GPUDTE FIZZh B . CPUTIZINUMPYD1.8f% . GPUTIT11fZ DS

® TheandNumPy:DBIf%: NumPye~_— R LU 7-AEEE . 7 SCH LT NumPyDfE 128> TRV
W, 72 SymPy-H L
NumPYyTIIZEE L E DR & T ELZERT LT —RAUT T OETIND

TheanoCIXEEZ D T H LD A R ES >Theand 2 —R Db ea /3114 H B

(ZAT9, Fab b LIz —RAERKIZIE, D A2 —7 2 TheandZ # %

® KET|ITheanD FEAM &L, BT ~DISH T ELF 5
TheandZ >\ CEELLIZ http://deeplearning.net/software/theano/

13.1.2 (XL TDTheano
® PyPW5Theand 1> AR—/L: pip install Theano
® FLEEAWIEALTMT D720, TV AT
T Y IATAT T —(BEEOD T V) RTMV(BEEADT V) ATHN (20T V)il d—iik
it
Bil: EIwy, AT Ao, BTV RXDIBA I ZOF R z=x0 X Wi + Wo
ZDa—R: 35D ATy = 5 (Variabler 7Y =/ NAEFE, 2—REa ()L FET
>>> import theano

>>> from theano import tensor as T



# initialize #1HUL

>>> x1 = T.scalar()

>>> w1 = T.scalar()

>>> w0 = T.scalar()

>>>z1=wl*x1+w0

# compile =2 /XA L

>>> net_input = theano.function(inputs=[w1, x1, w@jutputs=z1)
# execute 1T

>>> print('Net input: %.2f' % net_input(2.0, 1.05})

Net input; 2.50

TheanoCIIZE DT (dtypeYD B S 73N 5E . 64bit %L 32bit%k ., 8/ k& 2IR

13.1.3 Thean®H E

Theant¥32t Y FOAEY T RLATE T &R —F - OSTIHIFE AL 64 VR
HLE 2Ol A2 GPUT il LR 3~ 5720
B OT7 VAV X LD FEHE T T LU TEREY NI EERS: floate4 i
72727 e AT H CPUTHERR L EBE D=2 — R 2 GPUTHEITT 51214, floatéa-float32n B0k x 73 LB
CPUTIZELLL M ATRE, GPUTIZ float32%{#
Thean®iF&/ NI DI D T 7 4 )V MR E DFR AR
>>> print(theano.config.floatX)
float64
FE NS DB DT 7 4V R E A float32 2810 2 %
>>> theano.config.floatX = 'float32'
BREEA Sz N7 — VW EZZE T2 (LinuxdD s =/LZBT)
export THEANO_FLAGS=floatX=float32
FEE DOPythorEAT DO 25 A 3556 13 (Linux D> = /L 20 T)
THEANO_FLAGS=floatX=float32 python B 43 DA77 ~.py
CPULGPUDENN R 2 FTIEIZHOWT
CPULGPUD E LA L TV D) DS
>>> print(theano.config.device)
cpu
T 74NV NeCPULT DD HESE: T abhd AR ET o 7N B2 D
CPUTCHITT 584  THEANO_FLAGS=device=cpu,floatX=float64 pythofl 73 D A7V~ k.py
GPUTHETT 554 THEANO_FLAGS=device=gpu,floatX=float32 pythonH 73 D A7V~ k.py
BREZERE 7 7A/VOF A (Linux?®FA) ~/theanorc” 7 AV EER LR Ex EEATe:
f5l:  echo -e "¥n[global]¥nfloatX=float32¥ndevice=gpti¥> ~/.theanorc
(FEFRICESIAFTNDOAEIT, IROWindowsD & L[FRIL)
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MacOS XCLinux LA D6 B3 5IZWindowsD & 1d [ c:¥Users¥ 7 k) O FIT .theanor? 7 A
NEIED, LLFONBFEEXAL:

[global]

floatX=float32

device=gpu

13. 1.4 B EDHEAE
® Theandtensofey = — /L& W T, A EZ#IET 5
® 2XBTHIZAERL, FDOFERD D
>>> import numpy as np
>>>import theano.tensor as T A EIZIZINBRIT TS
# WL ABOER
>>> x = T.fmatrix(hname='x")
>>> x_sum = T.sum(X, axis=0)
# oA
>>> calc_sum = theano.function(inputs=[x], outpxtssum)
# FE1T(Python list)
>>>ary =[[1, 2, 3], [1, 2, 3]]
>>> print('Column sum:', calc_sum(ary))
Column sum: [ 2. 4.6.]
# FE{T(NumPy array)
>>> ary = np.array([[1, 2, 3], [1, 2, 3]], dtype=f#ino.config.floatX)
>>> print('Column sum:', calc_sum(ary))
Column sum: [ 2. 4.6.]
ZODEARAT T OMERR  EEDEFE, 22/ AV FEAT
Eofix, PythonDV AN G numpyDndarrayi! Tt Theand MR {E T A AR LIZHD
® EE: 5 ofTlITheanddtensor.fmatriRdki2 51 Hname="x45-2 TThean®> ¥ & EHL ., Thx
PythomDZE¥xiZ bz, 20L& Bl¥namer 52 221 Ui,
>>> print(x)
<TensorType(float32, matrix)>
EFRIRSND, TIUTKL, A4 OFID LS Znamer 5-2 5 &
the print function:
>>> print(x)
ERBZEITEEL LD, 7235, TensorTypéttypery v R TR T&S:
>>> print(x.type())
<TensorType(float32, matrix)>
® Theandd AEVZE[#Z CPULGPUZEINIR-> TE LSS, AL &T 22280, EEROBEENLT
B TELIET TR, 2 SA NG THA T V=V MO E T 52 ATREIZ /25
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#IH L (DO EFE
x = T.fmatrix(name="x")
w = theano.shared(np.asarray([[0.0, 0.0, 0.0]]pesstheano.config.floatX))
z = x.dot(w.T)
update = [[w, w + 1.0]]
# oA
net_input = theano.function(inputs=[x], updatesdafe, outputs=z)
# FT
data = np.array([[1, 2, 3]], dtype=theano.configatiX)
foriin range(5):
print('z%d:' % i, net_input(data))
z0: [[ O.]]
z1:[[ 6.]]
z2:[[12.]]
z3:[[ 18.]]
z4: [ 24.]]
ZORITIE w ZHFEHEL (shared v R), numpyDEcH (3R Tehc ], EHEITW T 1H0.0y2 iz LT
W5, z=x W ELEDEH L w=w+1.0-L TV5, dataZiZnumpyDhcd[1,2,3Ve 5-% . ZE¥xz @@L Twd (L
7o 3o CzD) EEHZBETV, ZIENLDZOEZ R RS E TN D,
ZOHFIEZE, [1,2,3DEITE FE SN2V DI\ CPUNBGPUCE A in ik S H— HEBK
givensEEZ WD L, A ANV ORNAEZT A TE, LIz3> TEORRE R BOED
# VUL (B D EE
data = np.array([[1, 2, 3]], dtype=theano.configafiX)
x = T.fmatrix(name="x")
w = theano.shared(np.asarray([[0.0, 0.0, 0.0]]pestheano.config.floatX))
z = x.dot(w.T)
update = [[w, w + 1.0]]
# I AL
net_input = theano.function(inputs=[], updatestatp,
givens={x: data} outputs=z)
# FT
foriin range(5):
print('z%d:' % inet_input()
z0: [[ O.]]
z1:[[ 6.]]
z2:[[12.]]
z3:[[ 18.]]
z4: [[ 24.]]



givensg 1 XPythoD [EEE | C, 24 LPythod 7 ¥ =7 Mt G T Tuvd

13. 1.5 U EOFELD g/ RIEHRIERENT O F2 2
® 10 DFY T N DIRDURTT — XD HE
import numpy as np
>>> X_train = np.asarray([[0.0], [1.0], [2.0], [3.G4.0], [5.0], [6.0], [7.0], [8.0], [9.0]],
dtype=theano.config.floatX)
>>>y train = np.asarray([1.0, 1.3, 3.1, 2.0, 6.3, 6.6, 7.4, 8.0, 9.0],
dtype=theano.config.floatX)
HEE: dtypexfEEL TWHDIE, GPUECPULZTINEE X HILDH LT D728
® HAATFE T LA E I, AR A(SSER ANEER A L wold/ AT A
a—RIIERE. 727ZLLLFIZHER
# I ARDEHE

net_input = T.dot(X, w[1:]) + w[0] # net_input = x.W
errors =y - net_input # errors =y — net_input
cost = T.sum(T.pow(errors, 2)) # cosferrors? = Y (y —w'x)

# W REBEEAOF R

dcost

ow

gradient = T.grad(cost, wrt=w) # grad

update = [(w, w - eta0 * gradient)] #w w— ngrad =w — 5 22

ow

grad@%iIwrt ST AZ (ZOBE1IW) DZEEUIT SN T Oy A 51 E 4y 6t G dcostTerrond BE%% ., errors:
net_input® BE%4. net_inputiwdES%k
o IEEIFET VO ESSERARIHAED T =7 (INEHLTZEID DR A)
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® ANFHEEIZEE ST RO DR
def predict_linreg(X, w):
Xt = T.matrix(name='X") HERDER (T DITH)
net_input = T.dot(Xt, w[1:]) + W[0] #2227 A/L(IRDIT)
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predict = theano.function(inputs=[Xt], givensw{w}, outputs=net_input)
return predict(X) HEAT
ZAUC, AR T — 22 52 TiERE Ty b5 (2 —RITE )
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13.2 74—RT7 4T —R=a2—F/V Ry N —7 DIEMEALEI %L
® ZjE—a— TN IRy T —IDRIE LN OV T AR ORIV
A FTRE CAULE DI 7B CHIEMEAL RIS L L T2 D
72720 FEBRIIT TRIBTE LB SR 13 RISy — FERRIEME A
HARAE B DN FE oo AT o 7 B
ZORBER v 7 EARBEED0ZH )55 6 T/ IR 230035, I TR/ MBI Fa 2 7]
Rt DD — M ER (tanhy X LWV HEE 1 H S

13.2.1 AT v 7BEE SN 2D
® U RT vV VAR O —FE, T AESES AT TY T N O EEEROET ML AT HE

Progistic(?) = o= TIT z=wTx = Twixy WolZ AT A=)

fil: X=[1, 1.4, 1.5]w=1[0, 0.2, 0.4] p(X) = — e

-wT'x

LT 5L p(X) =0.707 DI ATI T —F NI T ALy

FHSN DR (IR TE 2 X070 ME) 2AFHE TES
® HHOuT AT 4y IEVALEEZ W56, MRS RERMEZ H 1T 50 D TIE W
ZOF: (F—RO—EERE RO HFKIR)
Z = W.dot(A)
y_probas = logistic(Z)
print('Probabilities:¥n', y_probas)
Probabilities:
[[ 0.87653295]
[ 0.57688526] ZO=20EEE RS L1ZBAAD
[0.90114393]]
ERTII R B TA~DOFTBAIEEMZ R TH DL AR XLV =Y T M~y 7 2B LV — (b




13.2.2 V7 b=y 7 AR A -2 7 T A DO SRHETE
® VIULvyZA(softmaxBitk: mI ATy IERO—f{b, 27 TAFEEICBIT LI TAFEMEROFEIC

FIAZINS P(y =1| Z) = ‘psoftmax(z)

Z% 1em
(ORI, AAZXDOEFIZIBNT, 2R IOHER, 32 O—HOMR, LL-DOZBRNWEZIED)
® PythoniZJ %3 (softmax_activiation8 41X Z OB TR )
def softmax(z):  #/7h~v 7 AE%
return np.exp(z) / np.sum(np.exp(z))

y_class = np.argmax(Z, axis=0) #7254

13. 2. 3 Wl EREREE AW CH AR5

o W ahRIEREEI % (tanh: hyperbolic tangent) @.qnn(2) = = 2¢0gistic(22) — 1

e?+e”
B X[ (-1, L)DESR A L o=\ 7 T ax g — a7 VI VX AON R 2
& VANWARIEMALEH D ELD:

Activation function Equation Example 1D Graph
Unit step 0, z<0, . oL ’:
’ N—TT7ha
B %5 () P(2) {0.5. z=0, —,
AT I, z>0,
Sign (Signum) 1 ’ =
O Pt SR s
2 L z>0 —
Hinear Ho) = 2 ADALINE g
I LTSI —~
Piece-wise linear 1, z> 3 . .
ST #o=qc+, —d<zcy, SMOTTRS
i 0, z< -1, IH—RU)
Logistic (sigmoid) o .
o o= —— RYAT (w7 Al
QAT A L =a—T /) Fvh
Hyperbolic tangent i — et
P & $) = z +Z ZJg=a—7/L %k
Rl EH

13.3 Kerag&HAWWr=o—F /L 3%y NI —rDFH
® Keras: Theand ~<—2A (4Tl Tensorflowdh) L L7274 77V, 2015FEHEA%, GPUEfE-~T-==2—F /L
2y "I —27 D FE O EHE LA FE



=a—7 /Ry NI =T DERER 5 T HIEBIRIZ API
pip install Keras (Zd&»>TAAR—)L
® backendx UV x 551k
(1) ~/.keras/keras.jsonZz#RtE 15
7 7 4/VClE Theano 23 backend 12720 CWAIL T 72D T
{
“image_dim_ordering”: “tf”,
“epsilon”: 1e-07,
“floatx”: “float32”,
“backend”: “theano”
}
LUVVIORNFITZ2 > TWAGE: Json TEE7Z23, Python @ dict BT XV, TEH DIERITEHL
TEVY), ZD backend DfE % "theano”)>5 "tensorflow” 1228 2 ¥UiX. backend 2N TE 5D
QBRBEAES A EFRT 5, IRDEHIZ KERAS_BACKEND LV ZEE DFR TE % 3 UL 28 5 AT RE
KERAS_BACKEND=tensorflow python -c "from keras inppbackend"
® MNIST 7 =4ty MOFEIRFHEDEIE A\ —t T ur DL
load_mnistiX 12 FEERIUHD, K 12 FEE[AEE
X _train, y_train = load_mnist('mnist’, kind="trgin’
X test, y test =load_mnist('mnist’, kind="t10k")
T T — 2O U MNIST OERESZ 32"y MERUTZ #
import theano
theano.config.floatX = 'float32'
X_train = X_train.astype(theano.config.floatX)
X test = X_test.astype(theano.config.floatX)
IFAZ V% one-hot I ZE L (Keras?D > — /L4 fd )
from keras.utils import np_utils
print('First 3 labels: ', y_train[:3])
y_train_ohe = np_utils.to_categorical(y_train)
print("¥nFirst 3 labels (one-hot):¥n', y_train_aB§[
T DR
First 3 labels: [5 0 4]
First 3 labels (one-hot):
[[0. 0. 0. 0. 0. 1. 0. 0. 0. 0.J# ‘5
(1. 0. 0. 0. 0. 0. 0. 0. 0. 0.] #°0
(0. 0. 0. 0. 1. 0. 0. 0. 0. 0. # 4
Za—F N FRy NI = DFEEE 12 BEIIRL T —F 77 F v &8,
722 URRAVE A 10BN | TEPEALREE R 0 27 ¢ 7 B0 O AR IEBE RIS . H 71 J8 DTEMEA b
BT 7 by 7 AR A



from keras.models import Sequential
from keras.layers.core import Dense
from keras.optimizers import SGD
np.random.seed(l) # ELEOWIHI{L

model = Sequential() #ET L OYIHEE
model.add(Dense(input_dim=X_train.shape[1], [#UE1: AJ12=y ML (=A1T —FDKTH)

output_dim=50, # M=y

init="uniform’, #H 2 —RRELEBCTHIEE

activation="tanh')) B b AR E BB A TE L B S
model.add(Dense(input_dim=50, g2 A=y Mi=H7)2=>Mi=50

output_dim=50,
init="uniform’,

activation="tanh"))

model.add(Dense(input_dim=50, # kg ANJ)==v k=50
output_dim=y_train_ohe.shape[1], # H12=v Mi=hT7TV%#
init="uniform’,
activation="softmax")) ¥ b~ 2B TE LRSI

sgd = SGD(Ir=0.001, decay=1e-7, momentum=.9) FEFRA AR T E(FE R, BEEEERTE)
model.compile(loss='categorical_crossentropy',mizer=sgd,
metrics=['accuracy’]) #ET /LD AL (metricsA 7 T al W)
® keras.modelsCix Sequential L2 EFRSIN TN THL : ZNNR T4 —R 74TV —R=2—F /L X T
—IDET IV, BT VOYHUITRE N TEZ BN, ST AN ZZTH0T, TANEIZRD)
HEE AT ORI ZATIX A ORENE | LD, EERITIZIA T 2=y M DR 12 AT ELTY
ANEINSEHIFEZ DT T AN %22 T TROJEIZET DD FEIE ], Kerasidl (AR D) @ Lfgz o7
AN —2% 8 | EMEA TVAHD T, BRAELIRNEIIZ,
® o KerasD=—RTIINAT A=y MRS 7N ZEICH IR (fE2S 0 > TD)
718 D == hOEHUL one-hotEX D277 A7 ~)VELHI D FI| D%k
BT NDAL AN T T AV AP DOERNPGE : 2Tl AR T L
cross-entropyD 5 e : V7 b~ v V AR Tt Z A G FEIC B W TR ZE v hre —E 2 — kb

model.fit(X_train, y_train_ohe, H#H
nb_epoch=50, # TRV
batch_size=300, BT A
verbose=1, BT C TR
validation_split=0.1) BREH T — 2 DE &

® ETINOFEEITAit ZHNWD— Ny FH720 3005E | 50 TRy IZhlt o TR
validation_split5 [# DO ARIZ LY =R v 7 1% OFRGEED FTRE
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Train on 54000 samples, validate on 6000 samples

Epoch 1/50

54000/54000 [ ] - Ofoss: 2.2290 - acc: 0.3595 - val_loss: 2.1092 -aec: 0.5357
Epoch 2/50

54000/54000 [ ] - Ofoss: 1.8840 - acc: 0.5285 - val_loss: 1.6066 -aec: 0.5635
(%)

Epoch 49/50

54000/54000 [ ] - Ofoss: 0.2015 - acc: 0.9411 - val_loss: 0.1887 -acc: 0.9440

Epoch 50/50

54000/54000 [ ] - Ofoss: 0.1996 - acc: 0.9416 - val_loss: 0.1876 -aec: 0.9473

train_acc = np.sum(y_train ==y _train_pred, axisEX) train.shape[0]
print(‘Training accuracy: %.2f%%' % (train_acc *0)p
Training accuracy: 94.02%
y_test_pred = model.predict_classes(X_test, verise
test_acc = np.sum(y_test ==y _test_pred, axisXQ}eést.shape[0]
print('Test accuracy: %.2f%%' % (test_acc * 100))
Test accuracy: 93.30%
turing TR0 TATZEZ ABRL E LT R HFE R/ o7, F128 0% F(Training accuracy: 97.59% est accuracy:
95.62%) AT HWFE R &2 o 7o (R EHDNED) .
%% B EEE 500 TR 712U TRLZHE R (turing @ python3+ keras+Thearfdi )
Training accuracy: 98.05%
Test accuracy: 95.94%
BFEHRKTHEIEL, TAMIEHI T 2 BRI TRIERE Lo T

F o= T RG AR B RTE L L TR =D EfRRBMEN = FRR AL XA WEFE. Bha=y A Tk
DLENDHS

& Kerasb#hZ, Pylearn2, Lasagn&® m7A7ZUNRdH5
EHECLHAER  NERETE X ORDOT —<Tiden
Hinton, Ng, LeCun, Schmidhuber, Bendia- 86— A& O#FFEIZIER T4 ENHD
Scikit-learn, Theano, Kera& & D A=V TV ARDSNNH B
BB A keras? backend T tensorflowd theano)Si® 575, FHLENDE LD AN 1F ¥ %

IDEIDT, EbbhExSRELT-7 17T 0% backendeZE 2 H LR TEDTT— N HHZENHD
B3 https://github.com/transcranial/keras-js Ketdg =~ 7 77 | CHIT9 5 JavaScripf 177
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ChainerlZ:% MNIST Db

Keras
from keras.models import Sequential
from keras.layers.core import Dense

from keras.optimizers import SGD

model = Sequential()

model.add(Dense(input_dim=X_train.shape[1],
output_dim=50,
init="uniform’,

activation="tanh"))

model.add(Dense(input_dim=50,
output_dim=50,
init="uniform’,

activation="tanh"))

model.add(Dense(input_dim=50,
output_dim=y_train_ohe.shape[1],
init="uniform’,

activation="softmax"))

sgd = SGD(Ir=0.001, decay=1e-7, momentum=.9)
model.compile(loss='categorical_crossentropy’,

optimizer=sgdmetrics=['accuracy’)

model.fit(X_train, y_train_ohe,
nb_epoch=50,
batch_size=300,
verbose=1,

validation_split=0.1)

y_test_pred = model.predict_classes(X_test, verise
test_acc = np.sum(y_test ==y _test_pred, axis=0) /

X_test.shape[0]

11

Chainer (tutorial> example»5)
import chainer
import chainer.functions as F
import chainer.links as L
from chainer import training

from chainer.training import extensions

# Network definition
class MLP(chainer.Chain):
def __init__ (self, n_in, n_units, n_out):

super(MLP, self).__init_ (

I1=L.Linear(n_in, n_units), # firstyler
I2=L.Linear(n_units, n_units), # seddayer
I3=L.Linear(n_units, n_out), # outpayer

)

def _ call__(self, x):
hl = F.relu(self.11(x))
h2 = F.relu(self.12(h1))
return self.1I3(h2)

model = L.Classifier(MLP(784, args.unit, 10))

# Setup an optimizer

optimizer = chainer.optimizers.Adam()

optimizer.setup(model)

# Set up a trainer

updater = training.StandardUpdater(train_iter, rojer,
device=args.gpu)

trainer = training. Trainer(updater, (args.epoghoah’),
out=args.out)

# Evaluate the model with the test dataset for epdth

trainer.extend(extensions.Evaluator(test_iter, hode

device=args.gpu))

# Run the training

trainer.run()
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id:aidiary &g 58714771 Kerag (2016-03-28 http:/aidiary.hatenablog.com/entry/20160328/1438t65
® —-—FA%vhOMET modelicE £ 8 L AF 4 add()i AL THE T 5,
® EVE(LES%SC Dropouth @ L2729,
® modelDaL ANV B b T LTV A LEREERI (B TlEAg T et —) 2 E T 5, irAzBs
L O RARED 2 D,
BIELT VT X LNTFEARR) e SGD AL LD Z)RAYZ: Adam, RMSpropETE Ao TW%, AL il B
FEL scikit-learn& A UL fit() LWH AV R TTED, KerasiZEARBIZHETHY FEH LNEZ THHT
RBM D X570 Zhli7e L A28 2 3L DT B RN L,
® [UHHIED Early-stoppingZ=—/L 37 L TEESNTEY, IRLZH BEIRIZL—7 DB IEELIHIT
2o TN,
early_stopping = EarlyStopping(monitor='val_logsitience=2)
# training
hist = model.fit(X_train, y_train,
batch_size=batch_size, verbose=1,
nb_epoch=nb_epoch, validation_split=0.1,
callbacks=[early_stopping])
® fit) OFEVAED history 4 7Y =7 MIE TR Y7 DAANCKEENMEFESNDT2D, HETRHREEZ 70y M5
DITEZ D,
o verbose=L5ETHIETHEEDES LT VL LNET T7 TRRLTIND, &Ry 2o T- R
. T —& D losslaccuracy’ VT — a5 —H D loss/accuracy —FEIZ R REND,
o BHIAH=a—TNRXyMUNL U hma—T Ry MeESHERELHD, HeimDim I THIo7T v
TYRX LY KerasiZipFEEENABI STV 5: Deep dream, DCGAN, VGG-16, Deep Q-learning, Musig
Generation, AlphaGo , etc.

Keras: Python DIRE%E 747 7Y — https://kerasiolja/
Sequentiafe 7 /L C KerasiZfiiiu T/ L9 https://keras.io/ja/getting-started/sequential-etaglide/
® Sequential &%) EF /MTBEEAERZLO, Bz .add() Ay REHWTEEBINTE5,
® WD SequentialD AL AKX R~ —VEEFE ST 1 OO INT~—TTED, H7IEH LV Sequential
ETFNADLBRELTERD, LATIE2 DOANRY—IVEITND:
from keras.layers import Merge

sequential_1 (Sequential) sequential_2 (Sequential)

left_branch = Sequential() \ /

left_branch.add(Dense(32, input_dim=784))
right_branch = Sequential()
right_branch.add(Dense(32, input_dim=784))

merged = Merge([left_branch, right_branch], modertat’)

merge_1 (Merge)

dense_3 (Dense)

final_model = Sequential()
final_model.add(merged)

final_model.add(Dense(10, activation='softmax"))
12



® 2OIIHIELT=ET L DFE
final_model.compile(optimizer="rmsprop’, loss='catacal crossentropy')
final_model.fit([input_data 1, input_data_ 2], taig)e # we pass one data array per model input
® “NTIFEALDET L% KerasTHEIETES, Sequentialke Merge TIEFEBR T2 WKW EHERTT T
Functional APIZffi> CEFK TED
® I 3A()
T NOFEELED DRI compile Ay R - THERROR EEZITINIENH S, compile (X320
FIBE D REbFE, BB, FHEFEEDY AN

o f

Keras?® &7 /Lix Numpy DECFI DT —2 L~ L% FIWCEE 95, BIRIEGI20X fit BRI

i 1: VGG J&\&> CNN

from keras.models import Sequential

from keras.layers import Dense, Dropout, ActivatiBlatten
from keras.layers import Convolution2D, MaxPoolibg2

from keras.optimizers import SGD

model = Sequential()

# input: 100x100 images with 3 channels -> (3, 1@D) tensors.

# this applies 32 convolution filters of size 3x&b.

model.add(Convolution2D(32, 3, 3, border_mode=tiailnput_shape=(3, 100, 100)))
model.add(Activation(‘relu’))

model.add(Convolution2D(32, 3, 3))

model.add(Activation(‘relu"))

model.add(MaxPooling2D(pool_size=(2, 2)))

model.add(Dropout(0.25))

model.add(Convolution2D(64, 3, 3, border_mode=digli
model.add(Activation(‘relu"))
model.add(Convolution2D(64, 3, 3))
model.add(Activation(‘relu"))
model.add(MaxPooling2D(pool_size=(2, 2)))
model.add(Dropout(0.25))

model.add(Flatten())
# Note: Keras does automatic shape inference.
model.add(Dense(256)) # 2BGIL DX MLIT

model.add(Activation(‘relu"))

13



model.add(Dropout(0.5))

model.add(Dense(10)) #7410
model.add(Activation('softmax’))

sgd = SGD(Ir=0.1, decay=1e-6, momentum=0.9, nestdnue)

model.compile(loss='categorical_crossentropy',mizer=sgd)

model.fit(X_train, Y_train, batch_size=32, nb_epoth

il 2: LSTM Z W2 R 57— 2 D53 55

from keras.models import Sequential

from keras.layers import Dense, Dropout, Activation
from keras.layers import Embedding

from keras.layers import LSTM

model = Sequential()

model.add(Embedding(max_features, 256, input_leng#xlen))
model.add(LSTM(output_dim=128, activation="sigmpidher_activation="hard_sigmoid"))
model.add(Dropout(0.5))

model.add(Dense(1))

model.add(Activation(‘'sigmoid"))

model.compile(loss='binary_crossentropy’,
optimizer="rmsprop',

metrics=['accuracy])

model.fit(X_train, Y_train, batch_size=16, nb_epotf)

score = model.evaluate(X_test, Y_test, batch_sigp=1

il 3: CNN & Gated Recurrent Unit V7= B DB SCAE BCE 7 /L (BLER BLAZ 0O embeddinggffivy, 7B ST
TRRT 16 LF) 72720 RO REZGLT-DITITER T E THRLNIZE A THIH LS 172k K&V CNN
YA

Bl 4: 2J8 LSTM (ZL5R5145748

B 5: 2 5DRYNT —HEZENLIH]D LSTM encodetZJEL . ZDfERE~—T L CHHE

kerasiZE 7 VO RRILEZLTHHEH | hitp://www.mathgram.xyz/entry/keras/graph
keras?® keras.utils.visualize_utiDH(Z&% plot £ =—/L

14



] 3: CNN & Gated Recurrent Unit U 7= B[4 DR A SCA REE T L
max_caption_len = 16 ST T 16 30
vocab_size = 10000 BEEyAX

# first, let's define an image model that will ede@ictures into 128-dimensional vectors.

# it should be initialized with pre-trained weight$if>i% VGG & CNN £[FIL)
image_model = Sequential()

image_model.add(Convolution2D(32, 3, 3, border_msdagid', input_shape=(3, 100, 100)))
image_model.add(Activation(‘relu'))

image_model.add(Convolution2D(32, 3, 3))

image_model.add(Activation(‘relu'))

image_model.add(MaxPooling2D(pool_size=(2, 2)))

image_model.add(Convolution2D(64, 3, 3, border_mbasid"))
image_model.add(Activation(‘relu'))
image_model.add(Convolution2D(64, 3, 3))
image_model.add(Activation(‘relu'))

image_model.add(MaxPooling2D(pool_size=(2, 2)))

image_model.add(Flatten())
image_model.add(Dense(128)) #[E{%7)% 128K LD MLAT

# let's load the weights from a save fil@&.%7)> U 58 L7= EHADEDIA )
image_model.load_weights(‘weight_file.h5")

# next, let's define a RNN model that encodes sempseof words into sequences of 128-dimensionatl wectors
# GRS % 128 IRTLO HGERI MU ZEHE Y5 RNN £ 7 LD E %

language_model = Sequential()

language_model.add(Embedding(vocab_size, 256, ilgngth=max_caption_len)) # vocab_size=10000
language_model.add(GRU(output_dim=128, return_semps=True))
language_model.add(TimeDistributed(Dense(128)))

# let's repeat the image vector to turn it int@equence.

image_model.add(RepeatVector(max_caption_len))

# the output of both models will be tensors of shggamples, max_caption_len, 128).
# let's concatenate these 2 vector sequences.

model = Sequential()
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model.add(Merge([image_model, language_model], modacat', concat_axis=-1))

# let's encode this vector sequence into a sirggtoy

model.add(GRU(256, return_sequences=False))

# which will be used to compute a probability disttion over what the next word in the caption dtidae!
model.add(Dense(vocab_size))

model.add(Activation('softmax’))

model.compile(loss='categorical_crossentropy',mizer="rmsprop")

# imagesifg) % numpy D¥F 8 NEUS SR DERY (P 7 VL Fr oL =3, 1R )
# captions{it FH 30) 1% numpy OFEEELF (V7 V3, G LD i KEEX)

# BB 4y H7255BH S (partial_captiongy 3 4 HZES B2 5

# Inext_words{k ™ HEE) | 1% numpy D8/ N EBL S (7 V8K, REEE A X)

# KIS 2ER 5 IR S BT DR BEEEDO AT a—R (0 & 1)) 6725
model.fit([images, partial_captions], next_wordatdn_size=16, nb_epoch=100)

5l 4: ZJE LSTM I L5HR%

from keras.models import Sequential model.compile(loss='categorical_crossentropy’,

from keras.layers import LSTM, Dense optimizer="rmsprop’,

import numpy as np metrics=['accuracy'])

data_dim =16 # generate dummy training data

timesteps =8 X_train = np.random.random((1000, timesteps, data))d
nb_classes = 10 y_train = np.random.random((1000, nb_classes))

# expected input data shape: (batch_size, timesieps dim) # generate dummy validation data

model = Sequential() x_val = np.random.random((100, timesteps, data )dim)
model.add(LSTM(32, return_sequences=True, y_val = np.random.random((100, nb_classes))

input_shape=(timesteps, data_dim}))

returns a sequence of vectors of dimension 32 model.fit(x_train, y_train,
model.add(LSTM(32, return_sequences=True)) # metar batch_size=64, nb_epoch=5,
sequence of vectors of dimension 32 validation_data=(x_val, y_val))

model.add(LSTM(32)) # return a single vector of divaion 32

model.add(Dense(10, activation="softmax’))
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